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1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE

EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED
OR TORN OR MISSING PAGES OR ITEMS, ETC. IF
80, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate's responsibility to

encode/and darken the ROLL NUMBER, TEST
BOOKLET SERIES Code A, B, C or D and Question
Baoklet Number carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer
Sheet Any omission/discrepancy will render the OMR
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet
in the Box provided below. DO NOT write anything else
on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Each

item shall have five options {A, B, C, D, and E). If a
candidate is attempting a question, he has to darken most
appropriate circle from A, B, C or D. However if you are
not attempling a question then you have to darken the
circle 'E". If none of the five circle is darkened, one-fourth
{0.25) marks shall be deducted.

5. Any candidate not darkening any of the five circles
in more than 10% question shall be disqualified.

6. All questions are compulsory. Each question carry

one mark. For each wrong Answer, one fourth (0.25)
mark shall be deducted.

7. You have to mark all your responses ONLY on the

separate OMR Answer Sheet provided. See directions
in the OMR Answer Sheet. Use only BLUE/BLACK Ball
Point Pen to answer in OMR Answer Sheet.

8. Before you proceed to mark in the OMR Answer Sheet

the response to various items in the Test Booklet, you
have to fillin some particulars in the OMR Answer Sheet
as per instructions menticned on the OMR Answer Sheet.

9. At the end of the examination you should handover to

the invigilator the original copy and office copy of the
OMR Sheet. You are permitted to take away with you the
Question Booklet along with candidate’s copy of the OMR
Sheet.

10. Sheets for rough work are appended in the Test Booklet
at the end.

11. In case of any ambiguity in translation of any question,
English version shall be treated as final.
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1 Match the items in List — [ with the items in List — 11.

List — I List — 11
a.  Principles of Economics 1. Paul Sweezy
Kinked Demand Curve 2. Adam Smith
Principle of Maximum 3.  Marshall
Social Advantage
d. Law of Invisible Hand 4.  Dalton
T — [ & &l & g — 11 & A&l o gorea &< |
™ -1 T - 1
a. wdsme & fagE 1. did e
b. Tbws \iT w6 2. usH fHy
c.  ifurpaR gt @9 w0 Resia 3. e
d. oy w1y w M 4. s
(A) a-3, b-1, c-4, d-2 (B) a-2, b-l,.c-4. d-3
(C) a-3. b-4, c-1, d-2 (D) a-3; b-2, c-4, d-1

(E) Question not attempted / SN 98T

2 The degree of monopoly power as defined by Rothschild is based on :
(A) super-normal profit
(B) price cross-elasticity of demand
(C) slope of the demand curve of a firm and the industry
(D) price elasticity of demand
(E)} Question not attempted
TemaTges g afeaiitg ettt stieRy @t fealt fpm wx amenfia &7
(A) FW—FE ATH
(B) ¥ B g shid—wa
(C) TH FH oY AT % HT A% B AN
(D) #im & B @

(E)  ST=fE e

3  As a result of a fall in the price total expenditure on the commodity decreases, the
coefficient of elasticity will be :
BEd ¥ e & qieHEEd 9% WO A9 U ¥, WG w0 qOE e
(A) =1 (B) <1
)y >1 (D) =0
(E) Question not attempted / A 957

EC-7 2 P.T.O.
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MUx MUy

Py Py signifies :

{A) The commodity x gives more satisfaction than commodity v.

(B} The commodity y gives more satisfaction than commodity x.

(C) The satisfaction derived by commodity x and commodity y are equal.

(D) The utility derived by both purchased commodity are not equal to one another.
(E) Question not attempted

MUx MUy

P =P—y ol &

(A) o x, a8 y § offu® dgie <t &1

(B) ¥ y, 9% x ¥ fus HdiRE < B

(C) =g x T a%] y § W Hfte aEL Bl 2|

(D) @& T T e ¥ W ST U% gaC & aE] el 2|

(E) or=fE e

It a subsidy of T 2 per unit is granted to the producers of a product which has a perfectly
inelastic demand, then net effect will be :
(A) To reduce the price of a product to consumers by ¥ 2 per unit.
(B) To increase the price received by producers by I 2 per unit.
(C) To reduce the price of a product to consumers by an amount between ¥ 1 and
T 1.9 per unit.
(D) To increase the price received by producers by more than ¥ 2 per unit.
(E) Question not attempted
afg Uh IAIE & IAEH B 2 AT IHE B ALl & A B, g A7t guicar ddEER @,
S T9E FW
(A) IURIST & U IR @ dAd ° T 2 WA IHE HHT BT
(B) IE® @I e gt s § T 2 ufd 2@ gie s
(C) Sue e S A FHa & T 1§ T 1.9 9f9 32 & <@ &9 H¢)
(D) SEE® B Ha A W § T 2 U 366 9 aiie B ghg B

(E) or=fE 97

The speculative demand for money is :

{A) interest inelastic (B} income oriented
(C) interest elastic (D) savings oriented
(E} Question not attempted

g1 %l G931 | 3

(A) =IO gANER (B) a1 @

(C) =T WiErR (D) s9d S~j@

(E} oraiid ued

3 P.T.O.
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If MPC is 0.6, then Investment Multiplier will be :
afg MPC 0.6 &, =t fadsr Ture 0 ¢

(A) 3 (B) 3.33
(Cy 2.5 (D) 1.5

(E) Question not attempted / SITANT 987

includes total value of goods and services produced within the country, together
with its income received from other countries less income paid to other countries.
{A) Gross Domestic Product (B} Gross National Income
(C) Net Domestic Product (D) Net National Product
(E} Question not attempted

T 397 % AT STiad aRget it el & F9 o e §, 9 A ot a9l o
T ST @ o 29 &1 T B T2 ST Dl T |

(A) wad T SR (B) ¥&w TSI 3
(C) 93 = SR (D) & TSI SR
(E) or=fE e

Which of the following statements is TRUE in.the case of a perfect competition market?
(A) There is intervention by the government.

(B} Buyers are the price maker.

(C) There is no transportation cost:

(D) All the products are soldiat different prices.

(E) Question not attempted

ol wferifitar s % AR § Frefafaa & @ #9 W duw w=m g0
(A) G & =@ &l

(B) wiEm sma s ¥ |

(C) &g uftaed @mra wE 1

(D) TAT ST BT I BEAT 9T 9T AT E

(E) aqaid ued

Which of the following is NOT the function of the Reserve Bank of India?
{A) Banking facilities to Government (B} Banking facilities to public
(C) Lending to the Government (D) Lending to commercial banks
(E} Question not attempted

fr=ietigd & & & |/ 9 od §% & B @6 OE 7

(A) W@t w3 ghramd (B) wivar @l dfebr gierend g0
(C) TP & FOT <0 (D) avTg® el B FOT I
(E) o gana wed

4 P.T.O.
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The accelerator theory of investment relates the current rate of investment to the :
{A) change in the level of output (B} current level of output

(C) short-term rate of interest (D) long-term rate of interest

(E} Question not attempted

s = =% el MRy @1 9 9T 9 9T s

(A) SRS B W H uiaed B (B) I@EA % AR WX B
(C) oTeIhIfas &Ats 3T &l (D) @ arafta m = &Y &l
(E) =i a7

Assuming that the demand curve for a commodity is a downward sloping straight line,
price elasticity of demand :

{A) cannot be estimated (B} decreases as price falls

(C) increases as price falls (D) is same at every price

(E)} Question not attempted

T8 A g¢ {6 R awg &1 4 9 N @ o gl drdt T &, i o e e o
(A) HFAA & M ST Fhl (B) @iHg e 9T 92 9 &

(C) oroa e o Tt & (D) ® BE_ 9 g9+ & E

(E) or=fE e

Which of the following could shift a firm's average variable cost curve downward?
(A) A decrease in the productivity of labour

(B} An increase in the productivity of labour

(C) An increase in fixed cost

(D) A decrease in the demand for thé goods produced by that firm

(E} Question not attempted

frfafad & @ @ & BRE BECH ST IER I AN 9% BT A S AT Wi HT
Hehall ¥ 7

(A) 99 @ SAEHAT H B

(B) 9™ = IdEEHaT H gha

(C) Tia arma o ghe

(D) =& wd gm0 Soifea gy @ A F B

(E) orgaia 9t

Balance of payments on capital account does NOT include :
{A) government loans to foreign governments
(B) net income transfers

(C) balancing foreign direct investments

(D) foreign portfolio investment

(E} -~ Question not attempted

Sl @ 9 P d@gEd § e e g

(A) fa=elt TR @ GX@ET ®/OT

(B) 98 & @A=L

(C) vwae fagsht st &1 dqea

(D) faash wewifean fraar

(E) =i a7

8] P.T.O.
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Who coined the term ‘culture of poverty'?

{A) Oscar Lewis (By L Wirah

(C) R Redfield {D) Milton Singer
(E)} Question not attempted

THE @ Heph o= e e

(A) offErR dfa (B) ww fa=
(C) T T (D) foee R
(E) or=fE e

What is the value of the Gini co-efficient for an income distribution characterised by
complete equality incomes?

o G oTF ®1 fada ar o faaeer & faw R e & g v 7

(A) O (B} 0.5

)y 1 (D)

(E) Question not attempted / T A

When 7 units are sold at the price of T 16, then total-revenue will be :
g 7 3Edl B T 16 & HHS T = S B, A G- e B

(A) T 23 By X9

(C)y T 112 (D) T 123

(E} Question not attempted / AFTF 99

Which among the following inditect tax has been replaced by GST?
{A) Customs Cess (B) Motor Vehicle Tax
(C) Stamp Duty (D) Service Tax

(E} Question not attempted

frfefaa & o fpg suee w3 @ GST gra whienfua feear mm 32

(A) dM1 b IUHT (B) #RT A®T &
(C) =M™ &k (D) &am &Y
(E) argaia usd

In the process of credit creation, suppose the required reserve ratio tor the banks is fixed
at 10% and the initial change in cash reserves is ¥ 1000. Then the increase in demand
deposits will be :

I T Bl iedT ®, A W 6 St & o amavas Rerd st 10% oo fean @ & et
b ford & yrifyes aftads ¥ 1000 %, o |1 @ & gfg g e

(A) 100 (B) 10

(Cy 1000 (D) 10000

(E) Question not attempted / SITANT 987

6 P.T.O.
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In a two variable (x and y) regression analysis, the regression coefficients are bxy =09
and byx = 0.7. If y is dependent variable and x is independent variable, what is the
percentage of variation in y explained by x?

T T 9T (x ST y) W fagew §, wlem i b, = 0.9 AT b, = 0.7 ¥l 4 y P
T T o x @A W, aﬁxm}!ﬁﬁmwwwﬁrsmw%?

(A) 63 (B) 67

(C) 65 (D) 64

(E) Question not attempted / AN 99T

What is the smallest value of the series being coefficient of Range at 0.2, when the largest
value is 2407

ferem ToNE 0.2 FF UX g@en 1 999 Bl OR 9 §, W9 §99 951 9w 240 32

(A) 60 (B} 80

(Cy 120 (D) 160

(E) Question not attempted / SITANT 98T

Which type of unemployment has the marginal productivity of the workers as zero?
{A) Disguised unemployment (B) Involuntary unemployment

(C) Seasonal unemployment (D) Structural unemployment

(E) Question not attempted

fore gt B AT F iyt A S SaEsdT S R £ 7

(A) W= TSIl (B) amifase ATl
(C) e AETa (D) H{EAIHS SR
(F) a1g=ia we

The Planned Development Model was adopted in India from :
frefora T e &l wra o T YR T AT

(A) 01.05.1965 (B) 01.04. 1951

(C)y 26.01.1950 (D) 15.08.1947

(E) Question not attempted / SITANT 98T

Who propounded the opportunity cost theory of international trade?
{A) Ricardo (B} Marshall

{C) Heckscher & Ohlin {D) Haberler

(E} Question not attempted

SO IR HT SEdT WG [gia fhae vt fman 7

(A) TSt (B) =mste
(C) Ho9day ofit el (D) FEETC
(E) or=fE e
7 P.T.O.



25 All of the following indicators are included in Physical Quality of Life Index (PQLI),

except :
(A) Per capila income (B) Lileracy rate
(C) Infant mortality rate (D) Life expectancy at age one

(E) Question not attempted
S @ it qurE gadie (PQLD) § fefafag @it dohas s ©, e

(A) 9T =l (B) wrerean =X
(C) g gg (D) % ¥ H g IR e weTem
(E) orgaia 9s

26 Which of the following is the qualitative instrument of monetary policy?
(A) Discount rate (B) Moral suasion
(C) Cash reserve ratio (D) Open market operation

(E} Question not attempted
frfafad & & HF-a1 Wiy A B IONeEs 9IeE &7

(A) B W (B) Afas I
(C) &% Ted argua (D) o @ el i
(E) orgaia weA

27  Which of the following does NOT shift the IS curve?
(A) An increase in autonomous consumption
(B} An increase in Government spending
(C) A decline in Government spending
(D) A fall in the interest rates
(E) Question not attempted
frefaRad & @ ®F |1 [S'9h @0 WERRG &l & & ¢
(A) = wad | ghs
(B) warll @« #ghs
(C) @l @ o FH
(D) =< I H fraee

(E) oana ueq
28 is the effective tool of budget to influence the level of saving and investment
in country.
{A) Public debt (B) Taxation
(C) Interest rates (D) Open market operations

(E} Question not attempted
I Y FOd oY AT F W H 9 F b AU g9 ®B 99T YR E

(A) WrewND FIT (B) @wuiqur
(C) = =X (D) g 9% @ wihaTg
(E) oT=fa wsd

EC-7 8 P.T.O.
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Inferior goods are the goods with :

(A) falling income effect (B} rising income effect

(C) negative income effect {D) positive marshallian effects
(E} Question not attempted

(A) Tt ama vl &l & (B) = o™ yefad e 2
(C) T g wiad g ¥ (D) THOE® s g Bl ®
(E) or=fE e

The Average Propensity to Consume is :

(A) the change in total disposable income divided by the change in total consumption

(B} change in total consumption in a given period divided by change in total
disposable income

(C) total consumption divided by disposable income

(D) 1-APC

(E) Question not attempted

T SUHIT v ¥

(A) A WO o F ufeke + FW SURNT § grEd

(B) s fafyas smafy o oo gyg & aieds + PA9G5T oma ® it

(C) Fo IUAM + TG 37T

(D) 1-APC

(E) =i a7

An increase in fiscal spending leads to :

(A) a shift of the Phillips curve to the right
(B} a shift of the Phillips curve'to the left

(C) movement along the Phillips curve such that unemployment rises and inflation rises
(D) movement along the Phillips curve such that unemployment falls and inflation rises
(E} Question not attempted

To®NE =g 9 ghe

(A) Trfe @ & = T fa@a § 2R 21

(B) Twfer® @ & i 3R fgges ¥ 2R 3)

(C) TR 9o & W9 Ay 9" 6 SO 8ik Jaeniia 96 7 | 8.l 2|
(D) Tl as & arg e § SOl e ofit Jemwifa 964 o gl &)

(E) g usq

Stagtlation retfers to a situation that is characterized by :

(A) deflation and rising unemployment (B} inflation and rising employment
(C) inflation and rising unemployment (D) stagnant employment and deflation
(E} Question not attempted

Ty 58 Rufg &1 detha st &, e fasear g

(A) AUERITT oY gedl el (B) Ha1 ®hifd s sgar WS
(C) 7&1 whifad it g I (D) frar T ok srveRif
(E} ot ue

9 P.T.O.
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The Solow residual in Solow Model is the difference between the :
{A) rate of growth of productivity and the rate of growth of inputs.
(B} rate of growth of output and the rate of growth of savings.
(C) rate of growth of output and the rate of growth of inputs.

(D) golden rule level of consumption and the steady state level of consumption.
(E} Question not attempted

el Afed ® diar s = & S @ st §

(A) TERSEM B Fhg B X A TR B gha B I

(B) TERA @I ghg IX M F9q & ghg @ T

(C) =T @ ghg & 2T i frasn @ gies &1 52

(D) SU¥FT &7 =@y e w1 ot U @ R s w3

(E) or=fE e

The Heckscher-Ohlin theorem looks into to explain trade flows.
(A) relative factor endowments

(B) the existence of trade barriers

(C) acquired comparative advantage

(D) the differences in preferences among consuificrs

(E} Question not attempted

THIGL-SMERTT THT AT WaTs @] saTedl & fog B @ B
(A) AU BRE STeTAY

(B) =amum srumen & siad

(C) Ja o6 WTH Wi

(D) Sudrwmen % 9 erwshrat ¥ ot

(B) ogana as

Make in India campaign, aimed at attracting industrialists to make India Manufacturing
Hub was launched on :

qRT &l TaFmEo 29 a9 & fou et @ sTeiia i & S99 ¥ U I Ifear o

# g frar o)
(A) 25.09.2014 (B) 20.03.2015
(C) 25.02.2016 (D) 30.12.2015

(E} Question not attempted / G@ﬁ‘d L ER]

Which of the following tests is used for testing overall significance of regression after
using method of ordinary least square ?

= # ¥ 68 TOAT B ITGE LR AW G A B IUEE B & A8 WO & a9
Hed & gla & fou fopar s 27

{A) T-test (B} F-test

(C) Chi-square test (D) Z-test

(E) Question not attempted / AT 99T

10 P.T.O.



37 The warranted growth rate in Harrod Model depends on :

(A) Capital output ratio (B) Expected Income
(C) Level of investment (D) Marginal efficiency of capital
(E} Question not attempted
e Afed ¥ aries fyem « W 7T FHw §)
(A) dol SOET U (B) smfda o
(Cy fasT & @X (D) gSir o7 Hrid gear
(E) o gana wed
38 In Mundell Fleming Model, the LM curve slopes from left to right.
{A) upward {B) downward
(C) Vertical (D) Horizontal
(E)} Question not attempted
UIA AT Aed |, LM @6 @I A 9 § Il ¥
(A) T B T (B) 9T @ aw
(C) ordied (D) &fs &% FHFIaT
(E) or=fE e

39 According to Lewis Model, dual economy grows when :
{A) Modern manufacturing method is capital intensive
(B} Modern manufacturing method is labour intensive
(C) Agriculture sector uses modern equipment
(D) Capital is borrowed from foreign eountries
(E) Question not attempted
59 Aisd & SIE Al g 99 fawfia s % 99
(A) oyt i fafy TSiegae §

(B) ongt o fafy s aae §
(C) Y & IMYHch SHRLN B STAM HIAT &
(D) Uult faestt & Sare o 9 B

(E) oT=fE e
40 The optimum Tarift is determined at a point where the trade indifference curve of a tarift
imposing country is to the offer curve of the other country.
(A) tangent (B} cutting from below
(C) cutting from above (D) both curves cut each other

(E} Question not attempted

geead oft® 39 fig w Faifea fear omar & Set $Re @ et 291 1 ST ST 9% gEY
291 % U 9% & /s z

(A) wasTeaE (B) iR @ & W@ %
(C) I 4 oI W & (D) 3T TH TH A Bl Bl §
(E) =i a7

EC-7 11 P.T.O.
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Before the change in the price level, the exchange rate was I 60 = $1. Suppose the Indian
Price index rises to 300 and USA price index rises to 200. Calculate the new equilibrium
exchange rate under Purchasing Power Parity Theory.

Tt ¥ aiads ¥ Tew, fafma 31 T 60 = $1 o4t 9M /g 6 ias 1o gasid 300 7@
G W & 3% USA 71 gabic 200 T 9 AT 8, A1 hd STRT THFT [HEid & qed 73 Gga
fafma g3 &t T Y

(A) Te0=5%2 (B X6
(C)y Te0=525 (D) X6
(E) Question not attempted / SITANT 987

The devaluation which causes the balance of payments to worsen in the beginning and

oo
i

then improves is called Curve Effect.

TE AT b BT YIaH Sger @ | s S ¢ o Ry gax Sinm &, CE
THI HEAT 3 |

(A) L (B} U

(C)y J (D) C

(E) Question not attempted / STIATT U5

The maximum point of inverted U shaped Lafter Curve shows :

(A) Region of increasing Tax Revenue (B} Growth Maintaining Point

(C) Region of decreasing Tax Revenue (D) Tax Revenue Maximizing Point
(E} Question not attempted

wee U 3N & AIHT T3b &1 otfesad fog msian g :

(A) & TwE | gig @ & (B) gig o9 T % &g
(C) 97 &Y T9E & &7 (D) & ToE ATHaaBI {6y
(E) o gana wed

The availability of less cash with public due to high taxes and reduced public expenditure
1s known as :

(A) Fiscal Cliff {B) Crowding Out

(C) Crowding in (D) Fiscal Drag

(E)} Question not attempted

o B AT T QAR 9 % B TAGT b UTH BY BT B SUARIAT BT AT 0T E

(A) TTHEET FRA% (B) ¥ amez
(C) T g (D) ToHEE ¥
(E) org=iia weA

The foreign exchange market, Stock exchange market, banking and non-banking financial
institutions are a part of :

{A) Public sector reforms (B) Fiscal sector reforms

(C) Financial sector reforms (D) Industrial sector reforms

(E} Question not attempted

faaslt g1 IR, Wik Tedd ae, ST ot esteT i dem 1w e 7

(A) wEte 89 7 gUR & (B) TopNE &9 § gUR %
(C) foiia &5 ® gum & (D) sienfirs &9 § gur &
(E) =i a7

12 P.T.O.
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In bivariate regression analysis the variable that is being predicted is :
{A) the dependent variable

(B} the independent variable

(C) wusually denoted by slope

(D) usually denoted by r

(E} Question not attempted

feae wfam fageoor & e a9 & wiasgarlt @ s @ &, 9% z
(A) ot =X

(B) @Wdd WX

(C) WAk 9T TAW A F&Ed fean S

(D) AR 9T r O e fear A

(E) agaid ued

Dumping refers to :

{A) Tariff should be cut to make more money

(B) Expensive goods selling for low prices

(C) Sale of goods abroad at a lower price, than the price in the exporter’s domestic
market

(D) Buying goods at low prices abroad and selling at higher prices locally

(E) Question not attempted

T & awd §

(A) fas T T & fao2fw & F A S ey

(B) =& W %Y Il MY 9% <1 &

(C) fratas & TG A #/dma B gaar § 9 dmg 9 faden & o & fam

(D) fazset & ®9 M 97 TEE GUEAT 8 WA ©Y T 3™ Bl I8 @10

(E) oT=fE wsd

The Relative Income Theory states that when current income rises proportionally with
peak income, the average propensity to consume (APC) will :

{A) remain constant {B) increase more than proportional
(C) decrease (D) increase less than proportion
(E)  Question not attempted

e AT gl S & fh St aduE o e o & Wi auTiad §9 W gl 8, dl SUWIT
&1 & fou siea ugha (APC) :

(A) Re (B) anuitas & arfas e
(C) =& (D) U@ ¥ H9 Fem
(E) =i a7

13 P.T.O.



49 Maich the following :

1.  Price elasticity of demand

2. Income elasticity of demand

3. Point Elasticity

4,  Cross Elasticity of demand

Fr=teiag &1 e et

1. o % HEd @

2. #M @ o A

3. fig @

4. | H HE dA

(A) 1-a; 2-b; 3-c. 4-d
(Cy 1-d; 2-¢: 3-b; 4-a

(E) Question not attempted / ST 9T

50 Liquidity Trap implies :
(A) Perfectly elastic demand
(C) Infinity
(E)} Question not attempted

el $9 (Liquidity Trap) &1 a1¢ % -

(A) 9oidar |EE AT
(C) ofaar

(E) agaid ued

EC-7

14

(B)
(D)

(B)
(D)

(B)

Agd APB

gyA  PB

Lower Segment of Demand Curve

Upper Segment of Demand Curve

Agd APA
g4 P4
Ag , A¥d
gd " Yd
Agd _ APR
qd__\PB

AT &h &1 e @3
AT T B 3 TS

AgA _ APA4
g4 P4

Ag _AYd
gd = Yd

1-¢; 2-d: 3-b; 4-a
1-b; 2-d; 3-¢c: 4-a

Perfectly inelastic demand
Speculative Motive

Uil IR A

(D) 931 %1 9epds

P.T.O.



51 Keynes's quantity equation: P = P
(A) Consumption Standard {B) Real Balance Equation
(C) Cash Balance Equation (D) Quantity Equation
(E) Question not attempted
BT BT GRETT FHET: P:z B T ye afia e g
(A) TN ANH (B) Qi 9 THIEGTOT
(C) e 99 T (D) giwmr g
(B} &gaRa wed
52 Complementary goods exhibit a cross elasticity of demand.
(A) negative (B} zero
(C) infinite (D) unitary
(E) Question not attempted
X AW AT HE AT B TR BELE
(A) STOHES (B) =
(C) oa (D) Tfchen
(E) o gana wed
53 The Government of India has decided to measure poverty line in terms of :
{A) household consumption (B} household savings
{C} household investment (D) household Earnings
(E} Question not attempted
AT F@HR A AL @ &l &% AR W H o far ¥
(A) =L STHI (B) =Iq =1
(C) =i e (D) =¥ FH13
(E) argaitd ued
54 “Maintaining a laissez-faire stance toward trade is to the best interest of a country™ was
stated by :
{A) David Racardo (B) Adam Smith
{C) Milton Friedman {D) John Stuart Mill
(E} Question not attempted
AR & Ui 3EEey i a0 TE &8 2 & gaim R 7 ¥ fhaes 3 wen T an
(A) 3= et (B) usw fEg
(C) Theed wrg=iq (D) i gard i
(E} Saiid wed
EC-7 15 P.T.O.
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In the Trade Cycle Theory of J R Hicks, long-run equilibrium growth is determined by :

(A) technology (B) population

(C) autonomous investment (D) Both (A) and (B)

(E) Question not attempted

o AT e & AR 9% gl W, SHeE S e R it fean st
21

(A) T (B) wrTEEn

(C) w@rga frasr (D) (A) 3fiX (B) 3/

(E) organ wsd

In the series when the values do not have equal importance, we calculate :
(A) Mode (B) Arithmetic mean

(C) Weighted mean (D) Regression

(E)} Question not attempted
dEe § 9 el B G W el B §, Al ¥9 MR 2

(A) W% (B) sigriurd Hiey

(C) Wi =1 (D). gidA =

(B} &gaRa wed

The term “Laissez-faire™ is associated with which economic form?
(A) Capitalist economy (B) Socialist economy
(C) Mixed economy (D) Command economy

(E} Question not attempted
‘sERET 9T TRE ol e @ §qET E 7

(A) dofardr s (B) GETIETET srefearen

(C) Thisa srefegaeen (D) TE=or Sreiemaeen

(B} &gaRa wed

Fiscal deficit in the Government budget refers to :

(A) Taxes shorttall (B) Disinvestment shortfall
(C) Borrowings requirement (D) Disinvestment requirement

(E} Question not attempted
FLHA g1 T TN g2l Hafid HYar €

(A) HT F HAT A (B) fafwEier & =i =
(C) SHT ® SET®dr Bl (D) fafmast &1 smayamar o
(E) or=fe wsd
16 P.T.O.
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If you pay a price exactly equal to your willingness to pay, then :
(A) Your consumer surplus is zero

(B} Your willingness to pay is less than your consumer surplus
(C) Your consumer surplus is negative

(D) You place little value on the goods

(E} Question not attempted

AL AT I BT B AT 3T F B IO o B YA H €, Al
(A) SUHT UM AU T ¥

(B) I BT AT SMUD W U6 IR AT F BT T

(C) omgeT IUMRRT U FOTHS §

(D) oY g B TG B TE Id F

(B} &gaRa wed

“Bandwagon effect” is found in :
{A) Absolute Income hypothesis {B) Relative Income hypothesis
(C) Life cvcle hypothesis (D). Permanent hypothesis

(E)} Question not attempted

‘YA ThEE AT S F

(A) Ui 3w ufeean o (B) wg sy uftebedan ®
(C) a= °w ufmer T (D) T ai@ea T o

(E) oaia ued

To take care of inflation in an economy, which of the following measures are adopted?
{A) Decrease in transfer payments along with a reduction in taxation

(B} Increase in transfer payments along with an increase in taxation

{(C) Decrease in government expenditure along with an increase in taxation
(D) Increase in government expenditure along with a decrease in taxation
(E} Question not attempted

ST # YRR Bl T@A & o, Eaied ¥ § $F § U ST S 8 7
(A) HOGE o B H WA FACGCT P F HAT

(B) &UHM W gig & WY T YO § gha

(C) ®ag™ o ghg & WY-|g T &g | Al

(D) w0 ¥ &9 & WI-WY e I 7 gig

(E) =i a7

17 P.T.O.



62 According to the Phillips curve, unemployment will return to the natural rate when :

63

64

EC-7

{A) Nominal wages are equal to expected wages

(B} Real wages are back at long-run equilibrium level
(C) Nominal wages are growing faster than inflation

(D) Inflation is higher than the growth of nominal wages
(E} Question not attempted

fRfere o6 & STFETC, TSI WIhfde 3T I I9E 3 S0, 9
(A) A HEEA SuiEd woigdl b SUET B @

(B) arafas ool SeeRE SgET WX UX AN S S §
(C) A A GHEIEHITT & o § dol § 9% @ §

(D) Terehfy S OeEdl @ ghg 9 ot B ¥

(B} &gaRa wed

To increase growth, governments should do all of the-following except :

(A) Encourage foreigners to investment in your/country.

(B} Encourage research and development.

(C) Nationalize major industries.

{D) Encourage saving and mvestment.

(E)} Question not attempted

ghg @ ger & oy grarl # fpafatag w1 seat o Fd F 9y
(A) TRfymt @ ee 291 ¥ e & foo dieaned &)

(B) o Eu™ o fas & grenfed w1

(C) 9q@ JAr F AEEHT B |

(D) dEd o FA B Wensd &<

(E) o aita ueq

Full demographic dividend will be realised when there is :

{A) More social security (B} More skill development
(C) More intensive growth (D) More capital market
(E} Question not attempted

U] D AT q€ W B A

(A) WIS gL ot & (B) ®iyw T affues &rm
(C) W& ghg wiften &l (D) Ul SR i gFm
(E) oaia ueq

18

P.T.O.
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If a decision maker is risk averse, then the best strategy to select is the one that yields
the :

(A) Lowest standard deviation (B) Lowest coetlicient of variation

(C) Highest expected pay-off (D) Highest expected utility

(E) Question not attempted

afy #iE Foig @9 Fen Afe #9 § TR B §, a1 g9y ol Mt § S ufmm
(A) <gAaq A faae (B) featw &1 = aw Tuid

(C) I=aav emferd e (D) STIaw STdE ST

(E) oaia usq

According to Lewis model, the dual economy grows only when :

(A) The modern sector increases its output share relatively to traditional sector
(B} Agriculture sector uses modern equipments

(C) Agricultural sector hires labour economically

(D) Modern manufacturing sector is labour intensive

(E} Question not attempted

qeq Afed & SET AT srderawn gt 9%l B

(A) sy &7 I Saed W @ uiule a9 A ga ° sifte e ©
(B) iy &= smyfien el 1 SUH B ¥

(C) Py &= o = & ARl FF W | T

(D) oy fafmfor & s % B &

(E) orgaia weA

Non-performing assets of Commercial Banks mean their loans :
(A) fetching very low rate of interests

(B} for which interest / instalment has remained unpaid well after due date
{C} which have not been disbursed at all

(D) given to sick industrial units

(E} Question not attempted

it S &1 -Fremfeq dafq & ot 2 /6 o =

(A) 9gd ®H AN & WG HL @ §

(B) foep fow sma/feed 3 [ty & o= ot o =@ R o ®
(C) = faegpm W Rl T8 fon o

(D) 9w afenfe sagal & &y o ¥

(E) arg=iya weA

19 P.T.O.
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If all values of a variable are multiplied by a given number, which one of the following
will not be affected?

{A) Mean {B) Median

(C) Range (D) Coefticient of variation

(E) Question not attempted

i U WX & 9 AE & UE A T e q qon feaw wwn ¥, O e § 8 w0 gaia
T B 7

(A) #em (B) wemeH
(C) TR (D) féramr uriss
(E) o gana wed

Speculative demand for money would increase, if :
{A) prices of securities are expected to rise
(B} prices of goods are expected to fall

(C) the interest rate is expected to be constant
(D) the intercst ratc is expected to risc

(E} Question not attempted

&1 Bl | A g, a9

(A) viayfaai & @mal 7 ghg A seiie &

(B) awgall @ dmal § AREE 3, &1 dwiea §
(C) =am 3¢ Rex &5 Y amal &) S 2

(D) =T 5T 9 @l AaAT @bl &

(E) o gana wed

Which of the following is NOT the feature of monopolistic competition?
(A) Fairly large number ot firms

(B) Coexistence of efficient and inefficient firms

(C) Product homogeneity

{D) Independent price output policy

(E} Question not attempted

frfafaa § & S weifaer girfiar S fagoar T8 37
(A) @& T G § G

(B) Py R P HH Bl TE—Ihaa

(C) JIdE UHEaar

(D) ¥ T SWET A

(E) agaid ued

20 P.T.O.



71  An increase in money supply will increase the demand for goods and services by :
(A) Reducing government spending
{B) Lowering the interest rate so that investment spending increases
(C) Raising interest rate so that investment spending reduces
(D) Increasing government spending on goods and services
(E} Question not attempted
T B MY A ghe ¥ agent ofR Famet & At § i Rl
(A) 9@ @9 HH &
(B) & T ®H BN AqUUSB AN T T
(C) =I<T TC 9gMT difth e @ &9 8
(D) Tgatt iR wamel WX W@ =9 | gha

(E) oaia ueq
72  Which indicators are used in the Human Development Index (HDI)?
L. Standard of living II.  Education
III. Life expectancy IV. Condition of environment
(A) L 1II and IV (B) 1. II and Il
(C) Tand II (D) All of these

(E} Question not attempted
aMa fam gawi@ (HDD) % g Sddal & ST e S & ¢

[. e[ ®X I, fyrem

M. Saq g V. uafaer @ fufa
(A) L 11 T 1V (B) L II s 111
(C)y Tsirll (D) ¥ a

(E) orgaia w7

73  When LM curve is vertical, which one of the following is correct? An increase in money
supply will lead to :
(A) fall in interest rate (B) fall in the level of income
(C) rise in the rate of interest (D) no change in the level of income
(E} Question not attempted

W9 UAGH 9% @9ad ol &, Al M7 # o B o1 TE & 7 & Bl oY | ghg % B |

(A) = =X ¥ fge =9 (B) 3ma % wWX ¥ firmae &rlr
(C) =< 3T H ghg a0l (D) W % WL H BIg uiadd el &
(E) =i us7

EC-7 21 P.T.O.
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In law of variable proportion, the Marginal Product is zero when Total Product is :

{A) Maximum (B} Minimum

(C) Increasing at increasing rate (D) increasing at decreasing rate

(E)} Question not attempted

qRERT oI % T ¥, 99 SOR [ B §, 99 g9 S9E . B &

(A) rfamad (B) =9

(C) &l ST ¥ 93 TE (D) wedr =T ¥ 9% @

(E) orgaia 9s

If the cost curves are inverted, the Marginal cost curve cuts average cost curve at the
point.

(A) maximum (B) minimum

(C} zero {D) decreasing

(E) Question not attempted

afs @ 9% Ide &, dl WHid AN a9 e |0 9 Bl fég ax wrear ¥

(A) sifirmras (B) <pIaH

(C) I (D) ==

(E) =i a7

The Capital Budget of the Government of India includes :
(A) Loans and Advances granted to the states and UTs
(B) Expenditure on acquisition of assets

(C) Reducing import duties

(D) Loans received from foreign governments

(E) Question not attempted

ARA TR & Yo ool § g &

(A) Tl AT FEonied wRel @l fEu MU wor &R erfim
(B) wufqdi & SimEe 9¢ 2™

(C) M g6 o FA

(D) Ta=elt ¥Rl €@ yra =T

(E) o=@ g7

National Strategy for Financial Inclusion (2019-2024) was prepared by :
(A) Financial Inclusion Advisory Committee

(B} National Centre for Financial Education

(C) RBI

(D) Central Government

(E)} Question not attempted

foei wHEeM (2019-2024) % 0 UER IOFITT fhdes &TX A @ TS o ¢
(A) o 9\ReE gaEe 9

(B) T forar & fog i &%

(C) v fod §

(D) %z @K

(E) or=fE e

22 P.T.O.
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The Government of India initiative *SWAYAM" aims to ;
(A) Provide financial support to start ups

{(B) Promote Self Help Groups

(C) Aftordable and quality Education to citizens
(D) Promote Adult education

(E} Question not attempted

AR T B T6d @Y (‘SWAYAM') @1 @8 & -
(A) W o™ & 9T gemdr WeH S

(B) Wg WEEd WEl B goET o

(C) -miivent & forq | ofiT Toraramget firen

(D) vig fyiem =1 FgEr <

(E) =i a7

Under the customary cash reserve ratio of 1/20, if the bank receives I 5000 deposits, then
the amount multiple expansion of credit would be :

1/20 % TP e RAd U & d8d, A% 3% H < 5000 S U 2, o hise W qg Rt
Tfar &hf

(A) Z 4000 (B) Z 40000

(C) T 20000 (D) Z.25000

(E) Question not attempted / AT 99T

In calculating a country’s GNP at market prices,which of the following is NOT included?
(A) Wages and salaries before tax (B} Subsidies

(C) Retirement pension (D) Indirect Taxes

(E} Question not attempted

I qed q7 FRHT <91 1 Sigedn ! o o fefataa & 9 sF sl 78 7

(A) & 9 9Bdl Awed o T (B) =feh

(C) watgha Y (D) aToTs &Y

(E) or=ie wsd

Hari is 25 times as good as a workman as Kishan. Therefore, he can finish a given job

in 42 days less than Kishan can. By working together, in how many days can Hari and
Kishan finish the job?

(A) 28 days (B} 24 days

(C) 20 days (D) 16 days

(E) Question not attempted

&L, fpse ® 2%wmzﬁrﬂ1ﬂ%lsﬂﬁq,a%ﬁ:qnqzﬁrefaﬁﬁﬁsﬁﬁmﬁﬁwﬁwm
Hehal ¥ | UH |1Y B HIh, 5 A fpy febemr R F Q@ &Y Hopay E?

(A) 28 f&= (B) 24 &&=
(C) 20 fm= (D) 16 f=
(E) =i a7

23 P.T.O.
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If1+54+9+13+ ..+ x =496, find the value of 'X".

AL T +5+9+ 13+ .. +x=496% @ X' & A9 A HirAQ
(A) 57 (B) 59

() 6l (D) 63

(E} Question not attempted / AN Ug

A man is draining out petrol from a large drum into a storage tank measuring
72 cm x 40 cm x 50 cm. The storage tank already has 18 L of petrol in it. When petrol
is filled up to 3/8th height of the storage tank, 5/9™ part of the drum was still filled with
petrol. How much petrol was there in the drum in the beginning?

U e Uh g2 g9 4 72 A1 x 40 A x 50 G, AU A9 qerw $F ¥ UL e Tl 81
WU & ® T80 § B 18 WY U 2| 99 4RO &F B 3/8 HurE 9% Ui "I W ¥, 99
W 9 &1 5/9 9 U ¥ WU ZA AT &S § W H fepaer Ui an?

(A) 75L (By 78 L

(Cy 81L (D) 84 L

(E) Question not attempted / SIFaNT 98T

Three vears ago. a man's age was twice the square of-his . son's age. In seven years from
now, his age will be three times his son's age. Find their present ages.

{A) Man's age = 28 yrs, son's age = 4 yrs

(B} Man's age = 30 yrs, son's age = 5 yrs

(C) Man's age = 32 yrs, son's age = 6 vIs

(D) Man's age = 35 yrs, son'sage = 7 yrs

(E)} Question not attempted

A o T2, UE SEHI & 57 SEE A D BT & I § A A1 39 § 91 a9 96, IqH 7
IHF 9 B IF Y A T A SHD FAHH AT S BT

(A) EH B 39 = 28 A, 92 B IW = 4 G

(B) STEHT # 39 = 30 Qa8 & 59 = S "

(C) omedr & 39 = 32 91,/ 9¢ & 3% = 6 "id

(D) aeHl &I 9 = 35 Wi, 9¢ @l 96 = 7 A

(E) arg=ia usA

Ajay and Amit move from points A to B, 33 km apart, in a straight path at speeds of
5 kmph and 6 kmph, respectively. Amit reaches point B, turns back immediately and as
he is walking back to point A. meets Ajay at point C. Find the distance from A to C.

(A) 22 km (B) 25 km

(C)y 28 kim (D) 30 km

(E} Question not attempted

T oM It wHen: S5 fR Ui w2 o 6 fEdt wfa = @ Wi & @ e w33 e fag
A¥ B % Tad €1 i fiig B ot wguan &, 9@ a9 gear ¥ oft 99 & a8 iy A 9 et
quE gea &, f§g C 9T omm § fraar 81 A | C o gt 919 #ifsg

(A) 22 fei (B) 25 e
(C) 28 fai (D) 30 fei
(E) or=fe wsd
24 P.T.O.



Qs. 86-87 : Each of these questions contains six statements followed by four sets of
combinations of three. Choose the set in which the statements are logically related.

W F. 86-87 :37H W Ud W U ©E AT T ST 91E AN & AN & U 9 9N ¥ 9% U<

g TTeH U qibd w9 q darad w|

Sham won a lottery.

Sham lost in a chess game.

Sham is not intelligent.

One need not be intelligent to win a lottery.

One need not be intelligent to win a chess game.
Sham plays chess.

86

A A

M+ AL SR

AT & A H U 2T TR

oM ghaa TE B

e S & oY el @ gRewe BT el TR F

TTLH BT T S & g fpell i ghamm §1 ol 78t #1
9T STACS T o |

e oae oW

{(A) bef {B)-"acd
(C) bde (D) bdf
(E) Question not attempted / ST & 95

87 Some college athletes are professionals.
No college athlete is a professional.
Some professionals are well paid.

All professionals are-well paid.

All well paid persons are professionals.

No well paid person is a college athlete.

o oan o

B Sl T 9T ¥

BT HI Bidw TIAR YPET T 2

$B U BN T daq e 2

Al U B 3N 9o o &1

Tl arab IdqT U drel <l qstat )

Hig W W1 I I Gl R FIeSl UUAIE ol B

T Ry 0 TP

(A) bef (B) abf
(C) bdf (D) acf
(E) Question not attempted / SITANT 987

EC-7 25 P.T.O.



Qs. 88-90 : Each of these has a question followed by two statements I and II. Mark the

. 3.

88

89

N
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answer as:
88-90 : 399 ¥ yd® U Ueh We 3N €SP g ol wuq [ 3T 1T £ 3¢ &l 3a wai ffeg o
(A) if the question can be answered with the help of statement T alone,

(B} if the question can be answered with the help of statement II alone,

(C) if both the statements | and II are needed to answer the question, and

(D) if the question cannot be answered even with the help of both the statements.
(E} Question not attempted

(A) TfE 997 &1 ST hael wUA | ) gerwar ¥ G o g g,

(B) afX Wy &7 STX Haw wuA 1l B gEwwen ¥ A s 9w %,

(C) afE w97 &1 IOX 3 & o 9 Fue 1 ofix 11 emasass ¥, &

(D) afE 997 &1 IAX T wUAT B G § o7 A8 fEmm o geean #)

(E) arg=ia weA

Mr. X takes the morning train to his office from Station A to go to Station B, and his

colleague Mr. Y joins him on the way. There are three stations C. D and E on the way

not necessarily in that sequence. What is the sequence of thése stations during the journey?

I.  Mr Y boards the train at D.

IT. Mr. Z, who travels between C and D, has two segments of journey in common with
Mr. X, but no segment of journey common with"Mr. Y.

A X M B 99 % ¢ €9\ A § 09 e % o GaE b 27 UHSd §, i U H

ITh wEAR Y o 396 @1y B W E T ¥ 4 w2em C. D ofit E ¥, wwh @ 76 @ we

W B A % GO g RIEl ® A w T B

[ 4ME Y. DWW A 9 ¥

. fwE Z, 0 C 3t D & dig-93 da €, 39 9= & 31 @8 99F X & 919 99 £,
AR AHE Y & Y A BB W GS q9H e 6|

How many people (from the group surveyed) read both newspapers 'Indian Express' and

‘Times of India'?

[.  Out of the total 200 readers surveyed, 100 read Indian Express. 120 read Times of
India and 30 read The Hindu.

II. Out of the total of 200 readers surveved, 100 read Indian Express, 120 read Times
of India and 350 read neither.

(@t @ ¥ @) feae @ Shege et o ‘erem offw EfRear N T uw wed ¥?

[ & & o g@ 200 wea § ¥ 100 307 TRid B 3, 120 ITEF % 3R oY
50 3 &g wed ¥

I wdem & qnfte g 200 urgsl ® ¥ 100 $feaw vawd ued &, 120 Tm &% ieam ved
¥ 3l 50 @13 W T wed ¥

What are the ages of the three brothers?

[.  The product of their ages is 21.

II. The sum of their ages is not divisible by 3.
Ml IR B I FT E 7

[ S9! 31 & s 21 2|

. e og & 4 3 & fvra 21 %)

26 P.T.O.
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Kanaud is the old name of which of the following city in Haryana?
{A) Karnal (B} Kaithal

(C) Narnaul (D) Mahendergarh

(E)} Question not attempted

Fg ghamm % Frefatag § o fea st & g T e

(A) HE (B) e
(C) &= (D) wEme
(E) agaid ued

According to Skanda Purana, how many fire pits (Agni - Kunds) were created by Brahma
for performance of yagna at Kapal-Mochan (Bilaspur)?

whe g % AR, HUH-HeT (REEyR) § a5 S & e 7' g o sifgs g9 g
q7

(A) 1 (B} 2

(C) 3 (D) 4

(E) Question not attempted / AT 997

Consider the following statements about.Adi Badri.

I. It is situated to the north of Bilaspur on the foothills of the Shivaliks.

II. The Saraswati river is believed to have originated tfrom this place.

I1l.  Sculpture of Shiva-Parvati and Ganesha belonging to 9™ and 10! century have been
discovered from this place.

Which of the above statements is / are correct?

(A) T and II only (B} II and IIT only

(C) I and III only (D) I, II and III

(E} Question not attempted

anfs s & A H Fafafed sl v fER ®w$

[ e femmege & st # frafas & qese uwX Rad 1

L. = S & R wxeaR e &1 3T g8 W g ol

I 3@ @ | 93 ofit 104 st &l RE—dem ot st &1 qiaar firedlt §1

IS A A F BE AVY BUA T B/ 7

(A) eaw I & 11 (B) waw II &t 111
(C) waw 1 o Il (D) L. II s 111
(E) =i us7
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Consider the following words used in ancient scriptures.

I. Dharmashetra

IT. Nardak

III. Brahmavarta

IV. Brahmakshetra

Which of the above words have been used for Kurukshetra?

(A) L II and IIT only (B} I, III and IV only
(Cy IL III and IV only (D) L II, Il and TV
(E} Question not attempted

A e ¥ yge Frefafga sl w R w5

| S

II. -E®

. w=med

V. =@

U W F = W WA AT o WY e W s

(A) waa L, II af 11 By whaw I, 11 &R IV
(Cy wmaa II, III 3f IV (DY I, II, III &fx IV

(E) o gana wed

Consider the following statements about Chor Gumbad at Narnaul.

[. It is called signboard of Narnaul.

II. Tt was built by Fateh Khan an Afgan as his tomb.
IIT. It 1s also known as Bhul-Bhullainay.

Which of the above statements is / are correct?

{A) T and IT only {B) II and IIT only
(C) I and I only (D) L II and III
(E} Question not attempted

AR H A e & g W Frefaied w9 fra st

I 39 AT B EAI-Ug HE A ¢

[[. 39 AR %as @ F A9 & & & § qamEr &ml
[l =8 qa-Yeiard & 99 § | FE7 A1ar 2|

SUUES BUAl W W B "WYY HUT WEl 88

(A) baa 1 iR 11 (B) dhaw 11 s 111
(C) waa I &t 11 (D) I, II i III
(E) o gana wed
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Qs 96-100 : Answer the questions based on the contents of the passage given below:

EC-7

Five years ago, The Economist declared that data and not oil, is the world's most valuable
resource. A slew of analyses, interpretations and projections followed. This month, the
former deputy prime minister of the United Kingdom. made headlines with his statement
that data isn't finite and limited like oil, rather, it is like air, which can't be contained.
Many industrialists now hail data as the raw material. Data forms the bedrock on which
today's knowledge pyramid rises towards awareness, understanding and finally, wisdom,
which is essential for nuanced and effective policymaking. The World Development
Report 2021 asserts that there is a need for forging a new social contract for data which
accelerates data use and reuse to realise greater value, creates equitable access to benefits,
integrates national data systems, and finally fosters trust such that people are protected
from the harms of data misuse. We must construet new rules for this data age, and the
road ahead signals some critical but surmountable challenges. For instance, less than 20%
of low - and middle-income countries have modern data infrastructures such as colocation
data centres and direct access t@ cloud.computing facilities. In India, public data remains
inaccessible because many government officers don't want to put data out in the public
domain. Data is also siloed across sectors. As we enter India's "techade”, data must be
accessible to all citizens. We must adopt a multisectoral approach to collecting, integrating,
and interpreting data. This will strengthen service delivery by governments at all levels.
Data should be presented in a simplified and decluttered manner to maximise the benefits.
When it comes to data governance, India offers a range of best practices which can be
emulated and advanced by other nations. The Data Governance Quality Index (DGQI)
enables government agencies to undertake a detailed self-assessment of their data-
preparedness levels. 1t helps ministries advance towards an optimal data-driven outcome
tracking, and data governance architecture. Even as terabytes of data flow through the

government's data pipeline involving collection, cleaning, processing. analysis, modelling
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and visualisation, the pipeline is constrained with structural plaque. This plaque comes

from databases being inaccessible and siloed, and data platforms being cluttered with

complexity without any flexibility to innovate.

Which of the following statements are not borne out by the contents of the passage?

i.

il

1,

(A)
(S
(E)

Nowadays it costs more money for governments to acquire certain kinds of data

from other countries as compared to the cost of oil.
Clearly data is a costlier resource to produce than is oil.

Wisdom for governments is in acquiring data purely as a raw material at lower costs

and convert the same into proper information to be utilised equitably for public

good.
iand ii (B} 1 and i1
ii and iii (D) 1, ii and iii

Question not attempted

In the context of the passage which of the following statements could be taken as the

most accurate assessinent of the author's opinion about data?

(A)

(B)

(C)

(D)
(E)

It forms the base of the pyramid on top of which could be placed the knowledge

or wisdom that is an asset to policymakers.

The value of data depends on how well it is shared between countries for wider

social good.

Data ofters best value when it is developed separately for different sectors as per

their individual needs.
Data creation and management must be done equitably across all the countries.

Question not attempted
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98 As per the passage, handling of data by the government encompasses all the following

aspects except:

i.  Ensuring its repeated use by a wide cross-section of stakeholders to extract the

maximum benefit out of it.
ii.  Using it as a tool to negotiate better oil deals with the supplier countries.

iii.  Laying down norms complying with DGQI Standards for the ditferent stakeholders
to utilise the data provided by it in a controlled way, as only that would prevent data

plaque formation.

(A) iand ii (B) ii and iii
(C) iand iii (D) i, ii ‘and iii

(E) Question not attempted

99  Which of the following options is'synonymous with the word "plaque” in the context of

the passage?
(A) Failure (B} Corrupting
(C) Rusting (D) Clogging

(E} Question not attempted

100 Which of the following options is closest in meaning to the word "siloed" as it is used

in the passage?
{A) Lost (B) Protected
(C) Banned for use (D) Complicated

(E)} Question not attempted
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Final Answer Key of the Master Question Booklet of the Screening Test held on 10.09.2023 for
the Posts of Post Graduate Teachers (PGTs) in the subject of Economics for Mewat Cadre

(Advt No. 37/2023)

Q. No. | Ans Key Q. No. | Ans Key Q. No. | Ans Key Q. No. | Ans Key
I A 26 B 51 B 6 | x
2 C 27 D 52 A 77 A
3 B 28 B 53 A 78 C
4 C 29 C 54 B 79 B
5 A 30 C s | C 80 B
6 e 31 D 56 C 81 C
7 C 3 C 57 A 82 C
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10 B 35 A 60 B 85 D
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2 A 47 C 7 B 97 B
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